mean # PXL hits vs eta

<pixel hits>

.....................................................................

Ratio

=

0.95

| mean # PXL Layers with measurement vs eta

<pixel layers>
w
wW a1

N
&)

N
I

N
|IIII|IIII
.

.
.

T S ———

o+

Rati

0.95

—=— DQM_mkFit_TToriginal

meal

n # STRIP hits V|

—e— DQM_mKkFit_TTNEWHS_ALLITERS

10

<strip hits>

Ratio

o

i

0.95

LIS L
\d

e

w

=)

10 1 2 3

<strip layers>

IIII|IIII|IIII|IIII|IIII|IIII|III
-

Ratio

i —

=
T T T T [ T T 11T
>

0.95

+€

|
w

-2

T 0 1 2



	Contents
	Page 1


